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10 FEM main program

20 DIM ¥(10,20),A(10),AA(10),YBAR(10),YBBAR(10) ,NN(10)
40 INPUT "number of population = ";K

50 INPUT "sample size =";N

60 FO1 = 9.196
70 FO5 = 4.428
80 CO5 = 5.049
90 CO1 = 8.356
100 CTO5 = 9.075
110 CTO1 = 12.939
120 E05 = .04
130 EO1 = .67
140 LO5 = 8.1635
150 LO1 = 12.6565
160 705 = 1.645
170 Z01 = 2.325
180 TO5 = 1.672

" 1190 TO1 = 2.388
200 EX = 100
205 STD = 100

|21ﬂ NE = N*K
220 FOR W =1 TO 10
275 REM *kikkkkkikkkikikk

230 EEM generate da

249 REM #%kkkkkkhkkhkkkih

250 FOR P=1 TO K

1255 EX = EX + 100

/260 FOR R=1 TO N

270 GOSUB 55000 -

275 Y(P,R) = X

280 NEXT R

290 NEXT P -

295 REM **kxkkkkkkxil L.

300 REM compute f-te ')

3[}3 FEM #*kdkkkdkihik =

305 GOSUB 54800 m

310 GOSUB 2500

320 REM count the number of reject [V

330 IF FF >= FO '

340 T¢ FF >- FoS v REES|d Romeh 4 11 C) |11 d

42'} REM **t*t***“*t*#:l::lr*****t**t*********ttt***t*‘k*t******‘k*

430 REM compute likelihood ratioftest case simple order ehow

s s RAARIEI N URIANGIAL.

440 GOSUB 2800

450 REM count the number of reject

460 IF CHI > CO1 THEN REJCOl = REJCO1 + 1 ELSE GOTO 480

480 IF CHI > CO5 THEN REJCO5 = REJCO5 + 1

43",-' EEM **t*t*#****‘k*#*:k*:ht****t:\t*:lr*t******t***k*********t**k

490 REM compute likelihood ratio test case simple order know
variance (decreasing)

493 REM 'A::t'.l*‘k*t******t*‘k*t****t#*:hl‘:lr******#**#**#*t*t*****tt#

495 GOSUB 930

500 GOSUB 3000

510 IF CHI > CO1 THEN RECOl = RECO1 + 1 ELSE GOTO 520
/520 IF CHI > CO5 THEN RECO5 = REC05 + 1 ELSE GOTO 530
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oo
527 BEEM B T T T Tl Tttt s sttt st £ttt sttt ts

530 REM compute likelihood ratio test case simple tree order know
variance (increasing)

535 REM '.t*‘k****t*t********t*t#**********t*******t******tt#******t

540 GOSUB 930

550 GOSUB 3060

555 IF AB = 1 THEN GOTO 556 ELSE GOTO 560

556 ABORD1 = ABORD1 + 1

560 IF CHI > CTO1 THEN REJO1 = REJO1 + 1

570 IF CHI > CT05 THEN REJO05 = REJO5 + 1
577 REM ******tt********‘k************tt*****t*t*t*x**t**t****t****

580 REM cmmte likelihood ratlc- te e simple tree order known
variance (decreasing)

583 REM *k%kdkkkkkidikikikikd \\\ ke ok e dok ok ko ko kK k ko k ok
—

585 GOSUB 930
590 GOSUB 3120
ED{JIFG{I>CG1HEI~I 1T == RE l]
~"610 IF CHI > CO5 THEN ¥
. 617 REM *eskkaskkkakkhss
] 620 REM cmp.lte likeliliogd
variance (increfSipt /
623 REM *#*kkkkkhkkih Xl it o CHEEFEKKK KK Skhkdkkkddkkdkkk
625 GOSUB 930 *
630 GOSUB 3180
640 IF E>E01 THEN REJEC
iﬁ&ﬂ IF E>E05 THEN REJE
55'}' BEM *&ixkkkkkkkikikhi
660 REM -::mp.lte likeli
variance {decreas | 3 7
B63 REM *kkkkkkikihkikikik AREEE X ERE kxEkkkkkkkkhkikihikkkk
665 GOSUB 930 '
670 GOSUB 3400
680 IF E>E01 THEN H
690 IF E>E05 'I'I-IE‘N
697 REM u*utn*m ek ek o ek ke
700 REM compute likelihood Tz : m@tmemﬂer
unknown varia a{mcraasmg}
. 703 REM '.l:t*******:Hr:k**#B‘k:l:**t******W‘ktt*ti****t**t*******

. ;ﬁmzzguﬂumwﬂmwmm

712 IF AB = 1 THEN
713 ABORDZ = ABORDZ+1

AN SN N6 Y

730 IF L>I05 THEN REJE105 = REJEL05 + 1

737 REM *kdddksickiokikkidkkkhkikkkkxhk ik xhkikiohhkdkiokiokkkiritkix

740 REM compute likelihood ratio test case simple tree order
unknown variance (decreasing)

743 REM e ok gk e g & ke o e vk ke e e ko e e e ok ke e e ek e e o e ke e e e e e i e e e e e e e ke e e ke

745 GOSUB 930

750 GOSUB 3500

752 GOSUB 970

753 IF 1>L01 THEN REJE201

755 IF L>L05 THEN REJE205

kkkkkkkkkikirihkik

kkkkkkkkkkkktikkk
sle order unknown

REJE201 + 1
REJE205 + 1

nu
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757 REM T T T T S e
760 REM compute tests based on scores case simple order known variance
765 EEM :k:lr'k'!r:k*t****#‘.k:H:'i:**i**:H::k****t*t‘..lr*#***t****k***********t*******
770 GOSUB 3600

| 780 IF Z>Z01 THEN REJETZ01 = REJETZO1 + 1

790 IF Z>205 THEN REJETZ05 = REJETZ05 + 1

| 797 RH-! t*:H:'i::lr*tt**‘k:ti:*****tt****:Hr*!nlr**:I:*!H:*t*:ir***t*t*******t****k***t*
| 800 REM compute tests based on scores case simple order unknown variance
3{]5 REM ************k**t*k*‘k*****'.Ir*!nt******tk*:Hc****t****t******it******
810 GOSUB 3900

820 IF TPI>T01 THEN REJETTOl = REJETTO1 + 1
| 830 IF TPI>TO5 THEN REJETTO5 = REIETTO5 + 1

[ 837 BEM **kkkkhkkhhkhiihkihkhiiit KAk £ LR s S Y LT e
840 REM compute tests based on scores fae: simple tree order known variance
845 REM *ikkodddokddk ok ki ok & kkk b ARk kkkkkkkkhrhkkhhhkhhhhikihihkkitk

850 GOSUB 4100
860 IF Z>Z01 THEN REJ'EZ -
7870 IF Z>Z05 THEN REJEZE
3'}"}" REM  dedkedodk o oo oo ok o e e e e o
| 880 REM compute tests"Bas
385 FEM #&kkkkkkithihiik
890 GOSUB 4150
1900 IF TPI>TO1 THEN R
910 IF TPI>TO5 THEN R
913 NEXT W
1914 LPRINT "k = ";K:LPRINLERINT Vs .y |
915 LPRINT "f-test rejgftQl ="REJEFMEsSectO5t" ; RETEFS
916 LPRINT " chi-squre cfise 7- der knc ariance reject01="
' REJCO01;"reject05=";R e~
1917 LPRINT "chi-squre case sif®:
REC01; "rejectl:lﬁ-",RECD

5 Fk ok dok ok ko ek ek ke e kR ok

tree order unknown variance

R T T

variance rejcct01l="

918 LERINT "chi-squre case & "; SeBpknow variance rejcct01="
REJO01; "rejactﬂS: ", : ADGR
919 LBRINT “chi-sq ? &6 OFder oW Jariance rejcct0l="

REJC101; "re;lect ,_- ] )
920 LPRINT "chi- -square 511

REJEQ1; "reject05="" 05
921 LPRINT "chi-squre cﬂhﬁmple ordeg unknow variance rejcct01="

RECE01; "re j ﬁn
922 LERINT ﬁ@ %ﬂ m ance rejcct01="

RE]'E].CIJ. i ;REJE10S:LPRINT "abord = ";ABORD2
923 LPRINT "chl—sqm:-a case simple tree ordersunknow vari@sce rejcct0O1="

524 LERTITO| bt ToASH b cBetd, ek bikh Il ko iaance

rejcct0d="REJETZ01; "reject05=" ; REJETZ05

925 LPRINT "tests based on scores case simple order unknow variance
rejcct01="REJETTO1; "reject05="; REJETTO5

926 LPRINT "tests based on scores case simple tree order know variance
rejcct01="REJEZ01; "reject05=" ; REJEZ05

927 LPRINT "tests basad on scores case simple tree order unknow variance rejcct0

1="REJETO01; "reject05=";REJET05

928 END

929 REM *it*#t*t*****:ht:lnt*t*******t***tt******t**********t*t*#t*********

930 FOR M =1 TO K

940 YBBAR(M) =

945 NN(M) =

950 NEXT M

960 RETURN
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962 REM #dkkdkdkikkkkhdkhhhkhkdhhihikhhkkhhhhhhhkihhhhdhhhrhrrrhhrkrks
964 REM comput statistic case simple tree order unknown variance
966 REM #**xkxidkkkdikikhkikkikhibhhhhihhhhhhibhhhhhhhhihkhthkkkkktkdt
970 L= (NK-K) *E / (1 - E)

950 RETURN

2490 REM *#xkkkkkkkkkkkkkix

2500 REM subroutine f-test
2505 REM *kkkkkkxkkhkiikkik
2510 GMERN = 0

2520 COR = 0

2530 SSTO
2540 SSTR
2550 SSE = 0
2560 DFTR
2570 DFTO
2580 DFER
2590 ASTR
.. 2600 ASE =
2610 FF = O

2620 REM goto subrouti
2640 GMEAN = TOTAL /NK
2650 COR = TOTAL"2
2670 SSTO = TTAL - COR
2680 SSTR = SAI- COR
2690 SSE = SSTO -
2700 DFTR = K - 1
2710 DFTO = NK - 1
2720 DFER = K*(N-1)
2730 ASTR = SSTR/DFTR
2740 ASE = SSE/DFER
2750 FF = ASTR/ASE
2760 RETUEN :
2795 REM *k*kkkkkkkkd *kk \
2800 REM subroutines f‘ - g—"‘
2810 REM case simple

2815 REM ****#******tm e
2820 REM goto estimate mue case {:ncﬂsm}

2825 GOSUB 10000

- % mﬁ Vi Lt (e Vi

2335

2 S Rgsentouaf e 1 4

2341 0
2842 NNEW = 0
2843 YBNEW = 0
2844 YNEW = 0

2846 BB = 0

2850 FOR S = 1 TO L

2860 NNEW = NNEW + NN(S)

2870 YNEW = YNEW + (NN(S)* YBBAR(S))

2880 NEXT S

2890 YBNEW = YNEW/NNEW

2900 FOR S = 1 TO L

2910 BB = BB +(NN(S) * ( YBBAR(S) - YBNEW)"2)
2920 NEXT S

2930 CHI = BB/STD"2

2940 RETURN

mn

0
0

0
0
0
0
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2950 REM kkdkkkdkkhkikkikhirriikkkdhhhkdhhkirkk

3000 REM subroutine likelihood ratio

3010 REM case simple order (decreasing)

3ﬂ15 BEEM #ddkdkdkdkdkok o ok de g o o ok e e e do e g e e e e e e ok

3020 REM goto subroutine estimate mue case (decreasing)
3025 GOSUB 20000
3[]321FL-KORL=1THENGDID3G4UEISEGGIT)BGSE
3033 GOSUB 30000

3040 GOSUB 2838

3050 RETUEN

3055 REM #%%kkkkikskkdodd o doddiikikkhdkddddkddhhhk

3060 REM subroutine likelihood rati

3070 REM case simple tree er. (incrs
3075 REM t*****t**t*#*****#t T

3080 REM goto subroutine
3090 GOSUB 13000

© 3100 GOSUB 2838
3110 RETURN
|3115 REM s dok sk skdkk
13120 REM subm.ttlne
(decreasing)
3125 REM #kkkkkkkkiikk
3130 REM go to subrouti
13140 GOSUB 23000
3145 L =K
3150 GOSUB 2838
3160 RETURN = \
3170 REM ®skkskkokkkkokkkok ok £k % 44 7' Lk I

3180 REM subroutine likel ase simple order unknown variance

" \\'**t**t***?**#****t*t****#*****#
3 simple tree order known variance

ek o e e s ok e o ke ok ok e ok e e ok o ke e v ok ke

(increasing
3185 REM *%%kkkkkkkix g e e e T T
3190 REM go to subrdng mate-Te SE0 NG
3200 GOSUB 10000 %4 e
3204 IF L = 6 OR L = 1 THEN GO .u-
13205 GOSUB 40000

13210 GOSUB 3300

¢
3220 RETURN P -4
NN INEN
3300 REM c:mputﬂ

3303 REM k*xkikxkx **k**t********r*#****t

3305 V =
3310 gg%%'l@ﬂﬂim u'ﬁ’n ﬂﬁﬂaﬂ
333UGEEHH TOTAL / NK

3340 FOR I =1 TO0 L

3350 V = V + (NN(I) * ({m{l}-m}hzn

3360 NEXT I

3370 E = V /SSTO

3380 RETUEN

.......................
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3390 FEM ****t*‘k****:A.'****t*#*****tt*****#*****‘k**t*:l.'tt*‘k**tx*tt:txttt*x:th:ﬁ

3400 REM subroutine likelihood ratio test case simple order unknown variance
(decreasing)

34{]5 EEM **k*t*t***#***t**t*tt*tlt:ir:Ir*****:H:***tt'.k*:lr'!:****k*t*t****#**t********

3410 REM go to subroutine estimate mue case decreasing

3420 GOSUB 20000

3424 IF L = K OR L = 1 THEN GOTQO 3430 ELSE GOTO 3425

3425 GOSUB 40000

3430 GOSUB 3300

3440 RETURN

3445 m ***#***t'.ll:#t***t******‘ktiﬂt**t****i:******t***t*t****ﬂ:***t**********t****t

3450 REM subroutine likelihood ratio test case simple tree order unknown varianc
e (increasing)

3455 BEM #®kkkkkkkhhkihhkhihhiik

3460 GOSUB 13000

3461 IF AB = 1 GOTO 3480

3462 L = K

3470 GOSUB 3300

3480 RETURN

3490 REM **kkikkkkrikdris ook ek ok ok e ke e ok ok s ok ok ok ek ok

3500 REM subroutine 1i i \ le tree order unknown varianc

3505 REM #*%*xkkkkkkikk

3510 GOSUB 23000
3515 L= K
3520 GOSUB 3300
3530 RETUEN
355{} REM #®kkkikikikkthhkiii ';_' FhEkkkkkkkkkkihkkhkkkkk
3600 REM subroutine bas TAS le order known variance
35{]5 BEM #ddkdkddkdhdkhdihhdhidki = s e el ok ek ek ok e ook s kb e ke ke
3610 GOSUB 3700 L :
3620 RETURN r
3&9(} BEEM **‘k*******t**t** | £3 73
3700 REM compute t (k=
3'}'{]5 BEM #%kkkkhikkikk y"
3710 GOSUB 54800 D
|

\ Rk gk ok ko kR R Rk dok ko kR Kok kg ke

3720 GOSUB 53000
1730 GOSUB 52000
3740 T = A/(B*STD)

T L SN NN I NN

1890 REM ****ﬂ**“tt*t*:H:***#****#*****!nt*:Hr:k*************k*t****ttk*
3900 REM subroutine based on

e R R AR i s

3920 RETURN 9

3950 REM ***kikkkikikkikhkkhrkhkhrhrkiiis
1000 REM compute t-pi (unknown variance)
1005 REM *kkkkkkkkkkkhkkhkkkhkrhhkihkhikks
1010 GOSUB 54800

1020 GOSUB 53000

4030 GOSUB 52000

4040 COR = TOTAL "~ 2 / NK

4045 SSTO = TTAL - COR

4050 SSTR = SAI - COR

4055 SSE = SSTO - SSTR

4060 DFER = K *(N - 1)

4070 ASE = (SSE /DFER)"(.5)

4080 TPI = (( N™(1/2) * A ))/ (B * ASE)
4090 RETURN
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‘4{)95 Rm.[ ****!:**t*t*****:I:*t*******t*********ttt*t**************:*x**x#xz#
4100 REM subroutine based on scores case simple tree order known variance
41{]5 EEM **kt*t***xt***tt*t*i‘*********t***‘k**t***i*****tt*t**********#***
4110 GOSUB 54800

4120 GOSUB 54000

4130 GOSUB 52000

:4135 T = A/(B*STD)

4137 2 = (T - D)/ (E~(1/2))

4140 RETURN

4145 EEM ****t#******i:'!:******t****tt*x*****'!rt**t*****t***#**t**t*******t***

4150 REM subroutine based on scores case simple tree order unknown variance
4155 EEM *.I:i:‘.ti*‘.l:i**:H:*'.\t*:k******‘kt*tt*****t*tt********t**t**t*i********t**#*

4160 GOSUB 54800 |
4170 GOSUB 54000 | //
4180 GOSUB 52000 é
| ——

4181 COR = TOTAL ~ 2 / NK
4182 SSTO = TTAL - COR , ?
4183 SSTR = SAI - COR
4184 SSE = SSTO - SSTR
4185 DFER = K *(N - 1)

4186 ASE = (SSE /DFER)”(
4187 TPI = (( N™(1/2)
4190 RETURN

19990 REM *kikkkkkkkkkkk
10000 REM program esti

10010 GOSUB 54800
10020 IF YBAR(1)<= YBAR(
10030 YBBAR(1) = (¥YBAR(1) +

10040 IF YBBAR(1)<= YBAR(3)" THE EISE GOTO 10050
10050 YBBAR(1) = (YBAR(1) + ¥ {3))/3
10060 IF YBBAR(1)<= YBAR(4) T SE GOTO 10070

10070 YBBAR(1) = (YBAR
10080 IF YBBAR(1)<= ¥h
10090 YBBAR(1) = (YBE

> B(4)+ YBAR(5))/5
10115 NN(1) =K *# N m :

10120 L =1

101320 RETUEN

D
10610 L = 2

s0e10 v fo) J444) @&mem INEASY

10830 YBBAR(2) = (YBAR(4) + YBAR(5))/2

BAR()) /4
SBcor0 10090

10910 L = 2

10920 NN(2) = 2*N
10925 RETURN
11000 L = 3

11010 NN(2) = N

11020 NN(3) = N \
11030 YBBAR(2) = YBAR(4)
11040 YBBAR(3) = YBAR(S)
11075 RETURN

11150 L = 1

11160 NN(1) = 2*N
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11170 IF YBAR(3)<= YBAR(4) THEN GOTO 11400 ELSE GOTO 11180
11180 YEBAR(2) = (YBAR(3) + YBAR(4))/2

11190 IF YBBAR(2)<= YBAR(5) THEN GOTO 11300 ELSE GOTO 11200
11200 YBBAR(2) = (YBAR(3) + YBAR(4) +YBAR(5))/3

11230 L = 2

11240 NN(2) =

11250 RETURN

11300 L = 3

11310 NN(2) = 2*N

11320 NN(3) = N

11330 YBBAR(3) = YBAR(5)
11355 RETURN

11400 L = 2

11410 NN(2) =

11420 YBBAR(2) = YBAR(3)
11430 IF YBAR(4)<= YBAR(5
11440 YBBAR(3) = (YBAR(4
11470 L = 3
11480 NN(3) =
11490 RETURN
11560 L = 4
11570 NN(3) = N
11580 NN(4) = N
11590 YEBAR(3)
11600 YEBAR(4)
Eiﬁau RETURN

n

1710 L = 1
1720 NN(1) = N
11730 YBBAR(1) = YBAR(1)

11740 IF YBAR(2)<= YBAR(3) E GOTO 11750
11750 YBBAR(2) = (YBAR(2) + YR )/
11760 IF YBBAR(2)<= YBAR (4 E GOTD 11770

11770 YBBAR(2) = (YBA!
11780 IF YBBAR(2)>= ¥ NG G0 ELSE 44- 11790
11790 YBBAR(2) = (YBAR(Z ARES) ) /4
11820 L = 2
11830 NN(2) =
11840 RETURN

11900 L = 3
L1920 M(2) - ;*ﬂ‘IJEJ’J 'VIEJVITWEJ']ﬂ‘i
11970 YBEAR(3) = YRAR(S)

ﬁﬁﬁquﬁﬂﬂim UAIINYA Y

12020 HN{Z]

12030 IF (4]<- YBAR(5) THEN GOTO 12140 ELSE GOTO 12040
L2040 YBBAR(3) = (YBAR(4) + YBAR(5))/2

2070 L = 3

12080 NN(3) = 2*N

L2090 RETURN

12140 L = 4
12150 NN(3)
12160 NN(4) =
.2170 YEBAR{B} YBAR(4)
.2180 YBBAR(4) = YBAR(5)
12205 RETURN

II'I
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12260 L =

12270 NN(2) = N

L2275 YBBAR(2) = YBAR(2)

|2280 IF YBAR(3)<= YBAR(4) THEN GOTO 12510 ELSE GOTO 12290
L2290 YBBAR(3) = (YBAR(3) + YBAR(4))/2

12300 IF YBBAR(3)<= YBAR(5) THEN GOTO 12400 ELSE GOTO 12310
12310 YBBAR(3) = (YBAR(3) + YBAR(4) +YBAR(5))/3

12340 L = 3

12350 NN(3) =

12355 RETURN

12400 L = 4

12410 NN(3) =

2%N
12420 NN(4) = N
12430 YBBAR(4) = YBAR(5) ’,/
12440 RETURN /
12510 L = 3
12520 NN(3) = N

12530 YBBAR(3) = mnR{B}' - -
“ 12540 IF YBAR(4)<= YBAR( "L 2630 OTO 125
12550 YBEAR(4) = (YBAR(4Je *"’ a4 Wa e

12580 L = 4

12590 NN(4) = 2 * N
12595 RETURN

12630 L = 5

2640 NN(4) = N
12650 NN(5) = N

12660 YBBAR(4) = YBAR(4)
12670 YBBAR(5) = YBAR(5)
12750 RETURN

12990 REM ***kxkkkskkkhkik kg kEkEh IR IIR ety
13000 REM compute mue case Ssi 2 increasing)
13005 REM #**kkkkkkkkkkkkkhiik k " kkkkkkkhkhkkkhkhik =
13010 GOSUB 54800 . B ,

13020 IF YBAR(1) <= ¥HAR(2) AND YBAR(1) <= ¥BAR(S).AND YBAR(1l) <= YBAR(4) AND
YBAR(1) <= YBAR(5) TH¥N-GOTO T30S0 ELE ——1g \
13030 FOR R =1 TOK
13040 YBBAR(R) = YBAR(
13050 NN(R) = N
13060 NEXT R Yy

IS ﬂﬁﬂ?ﬂﬂﬂﬁﬂﬂﬂﬂi

13130 REM sort ifgres
13140 U = K-1 =™

=8 RN TN INIA Y

13170 IF YERR(J) <= YBAR(J+1) THEN 13220
13180 T = YBAR(J)

13190 YBAR(J) = YBAR(J+1)

13200 YBAR(J+1) = T

13210 F = 1

13220 IF F = 1 THEN 13150

13230 NEXT J

13232 FOR 2 = 1 TO K

13234 NEXT Z
13240 J = 2

13250 FOR L

13260 B = B

13265 Q = Q

13270 NEXT L

2T07J
(N* YBAR(L))

+
+ N
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13290 A = (N * YBAR(1) + B) /(Q + N) :
13300 IF A < YBAR(J+1) THEN GOTO 13330 ELSE GOTO 13305
13305 IF J + 1 = K THEN GOTO 13395 ELSE GOTO 13310

13310 J = J+1
13315 B =0
13317 Q =0

13320 GOTO 13250
13330 FRM = 1 TO J
13340 YBBAR(M) = A
13345 NN(M) =

13350 NEXT M
13360 P=K - J + 1

13370 FOR S = P TO K

13380 EBBHR{E} Y.'B.H.RI:S]

13385 NN(S) = /
13390 NEXT S

13395 IF A > EEP.R(J+1}

13400 RETURN

19990 REM **tﬂ**uﬂ* *****t*******
20000 REM program estimat® J"'ff ‘\\“ﬁ\ 3 aning}
20005 REM *%kkkkikkkhkkss t * _ﬁkt*****!***t
20010 GOSUB 54800 / \

20020 IF YBAR(1)>= YBAR w H 0 20030
20030 YBBAR(1) = (YBAR AR ( 2 )2 \

20040 IF YBBAR(1)>= YEAR(S) SN GOTC f‘e ELSE GOTO 20050
120050 YBBAR(1) = (YBAR BAF YR?

20060 IF YBBAR(1)>= YBAR(4) FHEN.GC ' X 'a* (GOTO 20070
20070 YBBAR(1) = (IBAR[l 3 )4 AR(4))/4
20080 IF YBBAR(1)>= YE GOTO 20090

20090 YBBAR(1) = (YBAR(1) # v@z
20115 NN(1) = K * N —_—
20120 L = 1 2352
20130 RETUEN g TR
20610 L =
20620 NN(1) = 4xN L7
20640 YEBAR(2) = YBAR(
20680 NN(2) = N :
20800 L = 1
20810 Hﬂ(i] 3%

50820 13 muﬁ mm&m@
20830 YBBAR(2) |

“ahaaﬂ
20910 L = 2
20920 NN

2 B e Tl i INeNa e

21010 NN(2)%= N

F YBAR(4)+ YB.H.R(E]}IE

21020 NN(3) =

21030 Y.’BBP.R{E] = YBAR(4)
21040 YBBAR(3) = YBAR(5)
21075 RETURN

21150 L = 1

21160 NN(1) = 2*N

21170 IF YBAR(3)>= YBAR(4) THEN GOTO 21400 ELSE GOTO 21180
21180 YBBAR(2) = (YBAR(3) + YBAR(4))/2

21190 IF YBBAR(2)>= YBAR(S5) THEN GOTO 21300 ELSE GOTO 21200
21200 YBBAR(2) = (YBAR(3) + YBAR(4) +YBAR(5))/3

21230 L = 2

21240 NN(2) = 3*N

21250 RETURN
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n

21290 NN(3)
21300 L = 3
21310 NN(2) = 2*N
21320 NN(3) = N
21330 YBBAR(3) = YBAR(5)
21355 RETURN
21400 L = 2
21410 NN(2) = N
1420 YBBAR(2) = YBAR(3)
1430 IF YBAR(4)>= YBAR(5) THEN GOTO 21560 ELSE GOTO 21440
i:;g E?BA§(31 = (YBAR(4) + YBAR(5))/2

21480 NN(3) = 24N

21490 RETURN ’,
21560 L = 4 /
21570 NN(3) = N

21580 NN(4) =

21590 mm = mu}
21600 YBBAR(4) = m{
21630 RETURN
21710 L = 1
21720 NN(1) = N
21730 YBBAR(1) =
21740 IF YBAR(2)>=
121750 YBBAR(2) = (YBA
21760 IF YBBAR(2)>= YE
121770 YBBAR(2) = {m
21780 IF YBBAR(2)>= YBAR
21790 YBBAR{Z} (YBAR(
21820 1, =

121830 mtz} = 4*N
21840 RETURN
21900 L = 3

21910 NN(2) = 3 - i
21920 NN(3) = N s X' )
21955 RETURN

22010 L = 2 m
22020 NN(2) = 2*N
22030 IF YBAR(4)>= 0 ELSE GOTO 22040

2 e AR T mrmwmm

zznaﬂ rm(a)

o i‘m{@ﬂq AINI AN Y

22160 NN(4)%=

22170 EBBAR{E] = YBAR(4)

22180 YBBAR(4) = YBAR(5)

22205 RETURN

22260 L = 2

22270 NN(2) = N

22275 YBBAR(2) = YBAR(2)

22280 IF YBAR(3)>= YBAR(4) THEN GOTO 22510 ELSE GOTO 22290
22290 YBBAR(3) = (YBAR(3) + YBAR(4))/2

22300 IF YBBAR(3)>= YBAR(5) THEN GOTO 22400 ELSE GOTO 22310
22310 YBBAR(3) = (YBAR(3) + YBAR(4) +YBAR(5))/3

22340 L = 3

22350 NN(3) = 3*N

22355 RETURN

N

< GOTO 21750
5 GOTO 21770

Go'm 21790
AR(5))/4
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22400 L = 4

22410 NN(3) = 2*N

22420 NN(4) = N

22430 YBBAR(4) = YBAR(5)

22440 RETURN

22510 L = 3

22520 NN(3) = N

22530 YBBAR(3) = YBAR(3)

22540 IF YBAR(4)>= YBAR(5) THEN GOTO 22630 ELSE GOTO 22550
22550 YBBAR(4) = (YBAR(4) + YBAR(5))/2
22580 L = 4

22590 NN(4) = 2 * N

22595 RETUEN

22630 L = 5

22640 NN(4) = N

22650 NN(5) = N \ '
22660 YBEAR(4) = YBAR(4)

22670 YBBAR(5) = EBRR(E"-'

22695 RETURN
122990 FEM #**&kkikiikkikikid it
23000 REM compute mue
23005 REM ®*k%xkkkikiii
23010 GOSUB 54800  °
23020 IF YBAR(1) >= YBI
(1) >= YBAR(5) THEN
23030 FOR R = 1 TO K
23040 YBBAR (R) = YBAR
23050 NN(R) = N

nun

7 Sk o ek Bk & ko

er{decreasing)
% k3o Kk kdkkkk ok

= YBAR(3) AND YBAR(1) >= YBAR(4) AND
| GOT0 23130

23060 NEXT R

2300 L =K

23080 RETURN _—

23130 REM sort decreasing .. 7o) - 0

23140 U = K-1 : R
23150 F =0 -

23160 FR J=2 0 U\
23170 IF YBAR(J) >= YEAR

23180 T = YBAR(J)
23190 YBAR(J) = YBAR(J¥1)
23200 YBAR(J+1) =T € =

pror=1 GUSANINITNYINT

23230 NEXT J 4

23235 YBBAR(1) = (YBAR(1)+YBAR(2Y)/2 o Y,
ko R TSRS HNINY1A Y

23244 NN(2)3= N

23370 FOR S = 3 TO K

23380 YBBAR(S) = YBAR(S)

23385 NN(S) = N

23390 NEXT S

23400 RETURN

2999 REM #*kxkkkkkkikikhkidibbrhiiihdd

30000 REM check 2nd roops(decreasing)

30010 REM *%*kkkkkkdkkkktrdhikrkkkdk

30020 IF YBBAR(1) >= YBBAR(2) THEN GOTO 31710 ELSE GOTO 30030
30030 YBEAR(1) = (NN(1)*YBBAR(1) + NN(2)*YBBAR(2))/(NN(1) +NN(2))
30035 IF YBBAR(3) = 0 THEN GOTO 30036 ELSE GOTO 30040

0036 L =1

30037 NN(1) = NN(1) + NN(2)

30038 RETUEN



~30130 NN(1) = NN(1) +

170

30040 IF YBBAR(1)>= YBBAR(3) THEN GOTO 31150 ELSE GOTO 30050
?ﬂﬂEﬂ YBBAR(1) = ((NN(1) + NN(2))*YBBAR(1) +NN(3)*YBBAR(3))/(NN(1) +NN(2) +NN(3)

30052 IF YBBAR(4) = O THEN GOTO 30054 ELSE GOTO 30060

30054 L = 1

30056 NN(1) = NN(1) + NN(2) + NN(3)

30058 RETURN

30060 IF YBBAR(1)>= YBBAR(4) THEN GOTO 30080 ELSE GOTO 30070

30070 YBBAR(1) = ((NN(1)+ NN(2) +NN(3))*YBBAR(1)+ NN(4)*YBBAR(4))/(NN(1) + NN(2)
+ NN(3) + NN(4))

30072 IF YBBAR(5) = O THEN GOTO 30074 ELSE GOTO 30080

30074 L = 1
30076 NN(1) = NN(1) + NN(2) + NN(3),+ NN(4)
30078 RETURN R
30080 IF YBBAR(1)>= YBBAR(5) MHEN GOMO/S9600 ELSE GOTO 30090
30090 YBBAR(1) = ((NN(1) +.2N(2) +NN (2

+ NN(2) + NN(3) + NN(4)
30120 L = 1

30410 RETURN
30600 L = 2
30610 NN(1) = NN(1) +
30620 NN(2) = NN(5)
30630 YBBAR(2) = YBRAR(S

30635 RETURN

30800 L = 1

30810 NN(1) = NN(1) + NN (3% AR\ N

30812 IF YBBAR(5) = 0 38 010 30820

30814 L = 2 o :

30816 NN(2) = NN(4) 7

30818 RETURN Jot 2

30820 IF YBEAR(4)>= YBEAR PO"31000 ELSE GOTO 30830
30830 YBBAR(2) = ( : (NN(4) +NN(5))
30840 L = 2

30850 NN(2) = NN(4)

30860 RETURN 4

31000 L = 3

31010 NN(2) = NN(4)

31020 YBBAR(2) = YBBAR(4) -~ 'Y

s e P ) VIV TNEN T

31050 RETURN QU

31150 L = 1 ¢ i Y,
R rawinesaiuuainga i
31180 fmfzjt NN(3)

31185 RETURN

31190 IF YBBBR(3)>= YBBAR(4) THEN GOTO 31400 ELSE GOTO 31191
31191 YBBAR(3) = (NN(3)*YBBAR(3) + NN(4)*YBBAR(4))/(NN(3) + NN(4))
31192 IF YBBAR(5) = 0 THEN GOTO 31193 ELSE GOTO 31196

31193 L = 2

31194 NN(2) = NN(3) + NN(4)

31195 RETURN

31196 IF YBBBR(3)>= YBBAR(5) THEN GOTO 31300 ELSE GOTO 31197
3%19? }cmlsmta} = (NN(3)*YBBAR(3) + NN(4)*YBBAR(4) + NN(5)*YBBAR(5))/(NN(3) + NN(
4) +NN(5))

31200 L = 2

31210 NN(2) = NN(3) + NN(4) + NN(5)

31220 RETURN



~ 31736 RETURN
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31300 L = 3 _

31310 NN(2) = NN(3) + NN(4)

31320 NN(3) = NN(5)

31330 RETURN

31400 L = 2

31410 NN(2) = NN(3)

31420 YBBAR(2) = YBBAR(3)

31422 IF YBBAR(5) = O THEN GOTO 31424 ELSE GOTO 31430

31424 L = 3

31426 NN(3) = NN(4)

31428 RETURN

31430 IF YBBAR(4)>= YBBAR(5) THEN GOTO 31560 ELSE GOTO 31440
31440 YBBAR(3) = (NN(4)*YBBAR(4) ,5 *YBBAR(5))/(NN(4) +NN(5))

31450 L =3
31460 NN(3) = NN(4) + NN(5)
131470 RETURN
31560 L = 4

31570 NN(3) = NN(4) '
* 31580 YBBAR(3) = m;f/"

31590 NN(4) = NN(5)

31600 YBBAR(4) = YBBAR

31610 RETURN
31710 L = 1
31720 NN(1) = NN(1)
31730 YBBAR(1) =
31732 IF YBBAR(3) =
31733 L = 2
31734 YBBAR(2) = YBBAR(2
31735 NN(2) = NN(2)

31740 IF YBBAR(2)>= YBBAR(3) TH
31750 YBBAR(2) = (NN(2)*YBBAR(Z
31752 IF YBBAR(4) = OyTHE :
31754 L = 2 -
31756 NN(2) = NN(2) §u N=F ol X'
31758 RETURN ‘
31760 IF YBBAR(2)>= (4) THEN"GOTO"42010 ; 41770

31770 YBBAR(2) = ((NN( P I*M{?S}J*EBBHR(E} +NN(4)* (4))/(NN(2Z) +NN(3) +NN(4)

)

bl ‘ET“HT S ST
31776 NN(2) = NN(®) + NN(3) + NH{:}

31778 RETURN

e AN SN DIRUARE, .1 omc + ms

) + NN(4) + {5])

31800 L =2

31810 NN(2) = NN(2) + NN(3) + NN(4) + NN(5)
31820 RETURN

31900 L =3

31910 NN(2) = NN(2) + NN(3) + NN(4)

31920 NN(3) = NN(5)

31930 YBBAR(3) = YBBAR(S)

31940 RETURN

60 ELSE GOTO 31750
BAR(3))/(NN(2) 4A0N(3)
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32010 L = 2
32020 NN(2) = NN(2) + NN(3)

32022 IF YBBAR(5) = 0 THEN GOTO 32024 ELSE GOTO 32030

32024 L = 3

32026 NN(2) = NN(2) + NN(3)

32027 NN(3) = NN(4)

32028 RETURN

32030 IF YBBAR(4)>= YBBAR(5) THEN GOTO 32140 ELSE GOTO 32040
ggggg EBB;R{E] = (NN(4)*YBBAR(4) + NN(5)*YBBAR(5))/(NN(4) +NN(5))
32060 NN(3) = NN(4) + NN(5)

32065 RETURN

32140 L =4

32150 NN(3) = NN(4)

32160 NN(4) = NN(5)

32170 YBBAR(3) = YBBAR(4)
32180 YBBAR(4) = YBBAR(S)

32190 RETURN —
2)
32275 YBBAR(2) = ymn/ |

~132260 L = 2
32270 NN(2) = NN(
32276 IF YBBAR(4) = 0 GOTD 2

32277 L = 3
32278 NN(3) = NN(3)

32279 RETURN NE TN\

32280 IF YBBAR(3)>= YBRAR(4 ) THEN @030)5: 510 EISE GOTO 32290
132290 YBBAR(3) = (NN(3)#YBEAR(S £ NN h*‘“g';- /(NN(3) +NN(4))
32292 IF YBBAR(5) = 0 , ' ISP GOTOL32300

32294 L = 3 2l \
132296 NN(3) = NN(3) + NN(4) —

32298 RETURN it

32300 IF YBBAR(3)>= manw}

400 ELSE GOTO 32310
32310 YBBAR(3) = ( (NN -
)

*YBBAR(5))/(NN(3) +NN(4) +NN(5)

32320 L =3 y;— )
32330 NN(3) = NN(3)+ N( |
32335 RETURN j m
32400 L =4

32410 NN(3) = NN(3)+ NN(4) .

A AN NN

3%3%3 e }‘W%&ﬂim URIANYNA Y

32532 IF YBBRBR(5) = O THEN GOTO 32534 ELSE GOTO 32540

32534 L = 4

32536 NN(4) = NN(4)

32538 RETURN

32540 IF YBBAR(4)>= YBBAR(5) THEN GOTO 42630 ELSE GOTO 42550
ggggg %BB.:RH] (NN(4)*YBBAR(4) + NN(5)*YBBAR(5))/(NN(4) +NN(5))
32570 NN(4) = NN(4)+ NN(5)

32580 RETURN

32630 L = 5

32640 NN(4) = NN(4)

32650 NN(5) = NN(5)

32660 YBBAR(4) = YBBAR(4)

32670 YBBAR(5) = YBBAR(5)

32680 RETURN
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39990 REM *kkkkkkkkkskkkksdkhkkkks kit

40000 REM check 2nd roops(incressing)

4[]{]1(] REH khkkkkkkhidhkkhhkkrttihhthitit

40020 IF YBBBR(1)<= YBBAR(2) THEN GOTO 41710 ELSE GOTO 40030
40030 YBBAR(1) = (NN(1)*YBBAR(1) + NN(2)*YBBAR(2))/(NN(1) +NN(2))
40035 IF YBBAR(3) = O THEN GOTO 40036 ELSE GOTO 40040

40036 L = 1

140037 NN(1) = NN(1) + NN(2)

‘40038 RETURN

40040 IF YBBAR(1)<= YBBAR(3) THEN GOTO 41150 ELSE GOTO 40050
imsa YBBAR(1) = ((NN(1) + NN(2))*YBBAR(1) +NN(3)*YBBAR(3) )/ (NN(1) +NN(2) +NN(3)

40052 IF YBBAR(4) = 0 THEN GOTO 40Q54,ELSE GOTO 40060
40054 L = 1 Ol ‘

40056 NN(1) = NN(1) + NN(2) +

'40058 RETURN

40060 IF YBBAR(1)<= YBBARf
40070 YBBAR(1) = ((NN(1)®™m
+ NN(3

% + NN(4
198 18, ipaS) -

40076 NN(1) = NN(1) + NN
40078 RETURN ' 9 N

:ggg IF Yﬂlgl;(llﬁ 1:'.' HIN Gk ;\ SE GOTO 40090

, = ((NN V(4 5)%

i m(mzy R Sy (4)+ NN(5)*YBBAR(5))/(NN(1)
40120 L = 1

40130 NN(1) = NN(1) + NS
40410 RETURN
40600 L = 2 A2
40610 NN(1) = NN(1) + NN(2)F+ A0S} +-Mi
40620 NN(2) = NN(5) e
40630 YBBAR(2) = YBBAR(S) _Z=/ii/ -/

GOTO 40070
+ NN(4)*YBBAR(4))/(NN(1) + NN(2)

40635 RETURN L)
40800 I, = 1 x — - 3
40810 NN(1) = NN(1) +.0¥(2) - ;
40812 IF YBBPAR(5) = 0 THEN € O ﬁzu
40814 L = 2

40816 NN(2) = NN(4)

40818 RETURN ‘a g |
40820 IF YBBAR(4 mmamqﬁ%mu
40830 YBBAR(2) = ) 4 5 5))/(NN(4) +NN(5))

i MR R AR TR UM AINeAE

q
41010 NN(2) =
41020 M{Z}m:(%m{4}
41030 NN(3) = NN(5)
41040 YBBAR(3) = YBBAR(S)
41050 RETURN
41150 L = 1
41160 NN(1) = NN(1) + NN(2)
41170 IF YBBAR(4) = 0 THEN GOTO 41175 ELSE GOTO 41190
41175 L= 2
41180 NN(2) = NN(3)
41185 RETURN
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'41190 IF YBBBR(3)<= YBBAR(4) THEN GOTO 41400 ELSE GOTO 41191

41191 YBBAR(3) = (NN(3)*YBBAR(3) + NN(4)*YBBAR(4))/(NN(3) + NN(4))

41192 IF YBRAR(5) = O THEN GOTO 41193 ELSE GOTO 41196

41193 L = 2

41194 NN(2) = NN(3) + NN(4)

41195 RETURN

41196 IF YBBBR(3)<= YBBAR(5) THEN GOTO 41300 ELSE GOTO 41197

41197 YBBAR(3) = (NN(3)*YBBAR(3) + NN(4)*YBBAR(4) + NN(5)XYBBAR(5))/(NN(3) + NN(
4) +NN(5))

41200 L = 2

41210 NN(2) = NN(3) + NN(4) + NN(5)

41220 RETURN

41300 L = 3

41310 NN(2) = NN(3) + NN(4)
41320 NN(3) = NN(5)
41330 RETURN

41400 L = 2

41410 NN(2) = NN(3)
41420 YBBAR(2) = YBBAR(
41422 IF YBBAR(5) = O TH
41424 L = 3

41426 NN(3) = NN(4)
41428 RETURN EET )\
41430 IF YEBAR(4)<= YBRAR N 560 BLSE GOTO 41440 _
41440 YBBAR(3) = (NN(4V*VEERR(4) «+ NN(5)AVERAR (NN(4) +NN(5))
41450 L =3
41460 NN(3) = NN(4) + N
41470 RETURN

41560 L = 4

41570 NN(3) = NN(4)
41580 YBBAR(3) = YBBAR(4)
41590 NN(4) = NN(5)
41600 YBBAR(4) = YBBAR(S ¢ _
141610 RETURN o @@ >
41710 L = 1 \ 7 ' X
41720 NN(1) = NN(1) -
41730 YBBAR(1) = YBBAR

41732 IF YBBAR(3) = 0 f:mn 41734 ELSE GOTO y‘rm
41734 L = 2

e ”“‘ﬁ‘lJEJ’J“fIEJV]ﬁWEJ’]ﬂ‘E

41740 IF YBRAR(2)& YBBAR(3) TI-IH‘I 42260 ELSE GOTO 41750
TR A
41752 IF

41754 L = 2

41756 MN(2) & NN(2) + NN(3)

41758 RETURN

41760 IF YBBAR(2)<= YBBAR(4) THEN GOTO 42010 ELSE GOTO 41770

41770 YBBAR(2) = ((NN(2) + NN(3))*YBBAR(2) +NN(4)*YBBAR(4))/(NN(2) +NN(3) +NN(4)

)

41772 IF YBBAR(5) = 0 THEN GOTO 41774 ELSE GOTO 41780
41774 L = 2

41776 NN(2) = NN(Z) + NN(3) + NN(4)

41778 RETURN




‘41780 IF YBBAR(2)<= YBBAR(S5) THEN GOTO 41900 ELSE GOTO 41790

41790 YBBAR(2) = ((NN(2) + NN(3) +NN(4))*YBBAR(2)+ NN(5)*YBBAR(5))/(NN(2) + NN(3
) + NN(4) + NN(5))

41800 L =2

41810 NN(2) = NN(2) + NN(3) + NN(4) + NN(5)

41820 RETURN

41900 L =3

141910 NN(2) = NN(2) + NN(3) + NN(4)

41920 NN(3) = NN(5)

41930 YBEBAR(3) = YBBAR(5)

141940 RETURN

42010 L = 2

142020 NN(2) = NN(2) + NN(3) :

42022 IF YBBAR(5) = O THEN GO : GOTO 42030
42024 L = 3

142026 NN(2) = NN(2) + NN
142027 NN(3) = NN(4)
42028 RETURN . ,
42030 IF YBBAR(4)<= GOTO ELSE GOTO 42040
42040 YBBAR(3) = (NN( - N(5) %)) /(NN(4) +NN(5))
42050 L =3
42060 NN(3) = NN(4) +
142065 RETURN

42140 L =4

142150 NN(3) = NN(4)
142160 NN(4) = NN(5)
42170 YBBAR(3) =
42180 YBBAR(4) =
42190 RETURN
42260 L = 2
42270 NN(2) = NN(2)
42275 YBBAR(2) = mama{z} S AL N
42276 IF YBBAR(4) = O\TI 42277 E 422¢ ’
42277 L = 3 ———
42278 NN(3) = NN(3) Vf
42279 RETURN m

42280 IF YBBAR(3)<= {4] 'HEN GOTO 42510 GOTO 42290
42290 m&(z} (m:{s} {3} + NH{ )XYBBAR(4))/(NN(3) +NN(4))

42292 IF YBBAR
42294 L = 3 tﬂ‘{}] ﬁ%
42296 NN(3) =

42298 RETURN

o Wmﬁsﬁ e

42320 r, =39

42330 NN(3) = NN(3)+ NN(4) + NN(5)
42335 RETURN

42400 L =4

42410 NN(3) = NN(3)+ NN(4)

42420 NN(4) = NN(5)

42430 YBBAR(4) = YBBAR(5)

42440 RETURN

42510 L = 3

42520 NN(3) = NN(3)

42530 YBBAR(3) = YBBAR(3)

42532 IF YBBAR(5) = 0 THEN GOTO 42534 ELSE GOTO 42540
42534 L = 4

42536 NN(4) = NN(4)

42538 RETURN

18)Y/(NN(3) +NN(4) +NN(5)
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42540 IF YBBAR(4)<= YBBAR(5) THEN GOTO 42630 ELSE GOTO 42550
42550 YBBAR(4) = (NN(4)*YBBAR(4) + NN(5)*YBBAR(5))/(NN(4) +NN(5))
42560 L =4

42570 NN(4) = NN(4)+ NN(5)

42580 RETURN

42630 L =5

42640 NN(4) = NN(4)

42650 NN(5) = NN(5)

42660 YEBAR(4) = YBBAR(4)

42670 YBBAR(5) = YBBAR(5)

42680 RETURN

49990 BEM ttt*#t*t**t*tttt**t**t*t :

on

b

o

[y

o
OmrHOoOOOO

52050 E=E + (

52060 NEXT I

52062 B = B~(.5)
52064 E = E * (STD"2)
52070 RETURN

53000 REM compute c case /&1 aprder
53010 FORI =1 TOK ,.?.; e

53020 C(I) = ((I -1) * (1 = (1 Y /K ) ) - (I*(1 - (I/K)))"(1/2)
53030 NEXT I : ,

53040 RETURN
53990 EEM t**ttt***t G
54000 REM compute c ¢age
54010 REM **#*kkkxxkkx®s
54020 FOR I = 2 TOK ||
54030 C(I) = - ((K - 1 }" (1/2)
54040 NEXT I

St ﬂ‘lJEl’J‘VIEWlﬁWEI']ﬂ‘i
ammnimummmaﬂ
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54790 REM ®&xkkkkkkkikikk
54800 REM subrotine mean
BA805 REM **#kkkkkkkikik
54810 SAI = 0

54820 TTAL = 0

54830 TOTAL

54840 FOR M
54850 A(M) =
54860 AA(M)

54870 YBAR(M) = 0
54880 NEXT M

54881 FORQ = 1 TO K

54882 FORV =1TON
54885 NEXT V

54886 NEXT Q

54890 FOR Q = 1 TO K

54900 FORV=1TON =
A(Q) + ¥(O

TO K

n
i QQHD

54910 A(Q) =

" 54920 AA(Q) = AA(Q) + Y
54930 NEXT V
54940 NEXT Q

54950 FORQ =1 TO K

5495%‘] YBAR(Q) = A(Q)
54970 TOTAL = TOTAL +'.
54980 TTAL = TTAL + AA

54999 REM X¥kkkkkkkxxkkakx
55000 REM subroutine y
55ﬂn5 BEM #kkkdkikkhkkhkkhkkkix
‘5501(: B = 0!

55020 FOR J=1 TO 12

55030 RL = RND —
55040 B = B + R1 -‘!f-

55065 NEXT J g
55070 X = EX+ (B - 6) & STD

ﬂumwmwmm
ammnimum'mmaﬂ



Table 2 Normal Curve Arcas

4452 4463 A484.78408" 405 %) 4535, 4445
4554 4563 , 4573 4599 4 6
45'“ A9 L4585 5
4713. 4119 Wediii—diat—
4772 418 AL 92
2.0 4821 ¢ 4826 ﬁ
22" AB61 4SS 4SEE] 4871 4873 AETUMGE! 493: :

23 4891 4896 439 4901 4904 .4906 .4909 4911 4913
24 4918 ' 4920 .4922 g "i 4927 4929 4931 4934 A9
9

i m BUSRDE NGNS

2.6 4953
495 4976 .4977 4911 4973 4979 4#79 4980 4981

27T A965 .
2.9 4981 4982 4982 .4983 4984 T 40z4 ﬁ Da] % ﬁﬂgi E E]

2.8 4974
* AWTANITUHS
This tahle is abridged from Table | of Sratistical Tables mn' Fermulas, by

A, Hald (New York: John Wiley & Sarnz, Inc., 1952). . Reprodyced by permis-
. -sion of A, Hald and the publishers, John 'Wiley & Sons, Inc. ;

'Source : “Mat:h:matir:n.l" Statistics * Ith Applications™

Mendenhall / Scheaffer, 1973. p.A30.
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Table 2. Critical values of the E} ., stalistic for n; =
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0-374
0-318
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Interpolato linearly in w1 for intermediate values of w and linearly in (v4 k+ 1)~ for
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0-01

0-05

001

0-05

0-01

E_Bh—&n—-ﬂ‘l— Buan—a

values of ».
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0-000
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0-000
0-000
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Table A.3 Critical Values of the X} Statistic for Testing Against the Simple

. Order Alsarmarive; Equal 1Welghtt Table A.5 The Probabilities P(l, k) for Equal Weights (Testing A;.ru:_usr the

. Simple Order Alternative)
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Table A.4 Critical Values of the T Sraristic for Testing Agains ':1
Simple Order Alternative, Equal Weights (i.e. Constant -

Error Variance and Equal Sample Sizes)
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n x — = \ i e ) Simple Tree Alrernative)®
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Thompson, Reproduced by permission of Professor £, 5. Pezrson,
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5,18
4.98
4.79
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4.02
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3.65
348
32

From * Tables of Percentage Points of the Inverled Beta (F) Distribution,”™
Biowneteika, Yol. 33 (1943), pp. 73-88, by Maxine Merrington and Catherine M.

Thompsan, Reproduced by permission of Professor E. 5, Pearson.
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